(Order of Operaﬁons>

Step 1: Mulliply and divide, from left to right.
Step 2: Add and subtract, from left to right.

Solve.

1 3x5+4= | 28044

3. 16+24+6= 4 9x0+6-3=
5. 3-0+6+13= 6.3>’<9-15><2=
7. 7x8+36+9= 8. 2+7-9+11=

Tell whether each pair of expressions is equal or unequal. Write an equal sign (=) or
not equal sign (#) on each line.

9. 8x6-10 8+6x10 10. 10x2%x3 3x2x10
11. 17-35+7 10x1+9-7 12. 12-72+9+4 72+9+4-12
13. 15-15+3 9x3-17 14, 3x3x2+] 3+1x3x%x2

15. 8+8+8+8 4x2+8+8 16. 3x4+7+1 100+10-9

Super Teacher Worksheets - www.superteacherworksheefs.com




-

(_Order of ‘Operaiions)

When you have different operations in a math problem, you
need to solve them in a specific order.

Step 1: Solve the part in parenthesis ( ).
Step 2: Multiply and divide.
Step 3: Add and subftract.

1. (9+3)+2= 2. 6-1x4=

3. (2x5)-4= ' 4, 36-(4+8)+4=

5. 50-5x (27 +3) = 6. 15+24+(8-2)=

5. Do(12+6)*2and 12+6+2 hové the same answere Explain why.
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(_Order of Operations )
Step 1: Multiply and divide, from left to right.
Step 2: Add and subtract, from left fo right.
Solve.

1. 3x5+6=21
3. 16+24+6=20
5. 3-0+6+13=1

7. 7x8+36+9=60

2. 08+4-6=1
4. 9x0+6-3=3

6. 3x9-5x2=1

8. 2+47-9+11=11

Tell whether each pair of expressions is equal or unequal. Write an equal sign (=) or

not equal sign (#) on each line.

9. 8x6-10 # 8+6x10

38 68
1. 17-35+7 = 10x1+9-7
12 12
13. 15-15+3 = 9%x3-17
10 10

15. 8+8+8+8 # 4x2+8+8
32 24

10. 10x2x3 = 3x2x10
60 _ 60

12. 12-72+9+4 # 72+9+4-12

8 0

14. 3x3x2+1 = 3+1x3x2
18 18

16. 3x4+7+1 # 100+10-9
19 1
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(_Order of Operations )

When you have different operations in a math problem, you
need to solve them in a specific order.

Step 1: Solve the part in parenthesis ( ).
Step 2: Multiply and divide.
Step 3:  Add and subiract.

1. 9+3)+2=§ 2. 6-1x4=2

3. (2x5)-4=4% 4. 36-(4+8)+4=33

5. 50-5x(27+3)=5 6. 15+24+(8-2)=19

5. Do (12+6)+2and 12+ 6+ 2 have the same answere Explain why.

No, the answers are different. In the first problem, vou add 12 + 6 first. In the
second problem, vou divide é and 2 first.
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